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Abacus Trainer 3 ~ (NegativeQs_Ans6)

52
15
94

- 828 + 436
- 362 + 122
+ 188 - 492

353 - 567 + 22
226 - 403 + 64

82

+ 58 - 924 =

391 - 677 + 180
163 - 48 - 185

35 - 358 + 11 =
188 - 83 - 898
92 - 15 - 166 =
48 + 54 - 486 =
70 + 12 - 898 =
546 + 63 - 640
59 - 46 - 55 =
82 - 735 + 45 =
67 - 801 + 63 =
71 - 774 + 268
26 + 27 - 149 =
26 + 154 - 303
79 + 52 - 240 =
904 - 804 - 132
/1 - 18 - 93 =
84 - 38 - 626 =
259 - 27 - 655
58 - 37 - 563 =
62 - 99 + 28 =
140 - 753 + 94
45 - 369 + 28 =
20 - 512 + 88 =

-340
= -225
= -210
= -192
= -113
-784
= -70
-312
= -793
-89

-384
-816
= -31
-42

-608
-671
= -435
-96

= -123
-109
ﬂ

-580
= -423
-542
ﬁ
= -519
- 296
- 404



